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General instructions

There are 3 tasks to complete.

Each task s worth 25 marks.

You should spend an equal amount of time on each task.
Read through each task carefully.

Show your working out. You may get marks for it.
Check your calculations,

Remember to put units on your answers.

Write all working out and answers in this booklet.
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Task 1  Cycle hire

There are 25 marks available for this task.
You should check all your work as you go along.

Introduction

This task is about a cycling holiday.

You need to hire suitable cycles and child seating
for four adults and two children for 7 days.

One of the children is 3% years old and weighs 3 stone.
The other is 18 months old and weighs 25 pounds.

You need to investigate how much it will cost.

Children under 4 years old must be seated in a child seat or a trailer. Cycle hire
centres need to know the ages and weights of children under 4 years old.

1 stone = 14 pounds
1 kilogram = 2.2 pounds

Bert's Bikes Cycle hire

'l"y'pe of cycle and child seating Suitable for ' Hire cost per day
Tandem m 2iacu £22.50
not suitable
y - for child seats or trailers
Adult cycle E 1 adult £14.50
Child cycle 5 4~ 12 years old £6.00
Child seat _ a child up to a welght Free
g of 18kg
Trailer N 1or2childrenuptoa £17.50
A\ total weight of 35kg
: 'm .
Children under 4 years old must sit in a Child seat or a Traller
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Go Bike Cycle hire

Hire cost list

Type of cycle and child seating Per day Per week (7 days)
Tandem (not suitable for child seats or £26.50 £175
trailers)
Adult cycle
£15 £70 per week
Adult cycle Special Hire Offer 2 Adult cycles for £20 per day
or £90 per week
Child cycle
4 - 12 years old S £50

Children under 4 years old must sit in
a Child Seat or a Trailer

Child seat

for a child up to a weight of 18kg

Trailer

far 1 or 2 children up to a weight of 35kg

Free

€15 per day | £99 per week

1A
You need to decide from which centre to hire suitable cycles and child seating for the
four aduits and twe children for 7 days.,

Plan how to soive this task. Write down your pfan, including the steps you will use.

Necef fo Lenoas: C(-%II/O/ Seqrs — A/// Jch?

N
() > A/a'yﬁff Co St
Cyc/es — /—//u'cA ,

Corf
Cycles + Chld seals = CosTs
/

~N
3@/‘/{ 60/3/'4 e

(3 marks)
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iB
Carry out your plan to investigate the costs. Show a check for at least one of your calculations.

Show your working.
Ch ilaren We_z'q/fs
/Bmonth 25 pounds = 25,3 = //-3€364g
3Y2years 3stone = %14 povnels = 42 pounch
“42/.0 = 19 9749
vse tradler Jor bot

/7419 =30kq

C\/ cles
Zfadults — get 4 bikes

Berés brkes
Trailer 1750 per cloy

Bikes 4 So per c(cu/ ) ]
e R
l-/-b:kes ﬁr /e k = 14 ?23. —
Gw -g/-/(g
Tradler op0er weak G000
2 Adult bikes Go perwenk /80 .00

BiASe
‘/PLC%LI&OAH bikes |20 perueek 770- 00
Vall

Check

s28.50

—— YOk
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1C

Draw a table to present your results and compare the costs of hiring what you need from Bert’s
Bikes with the cost of hiring from Go Bike.

Berts -sze.s GCo B/ke

/
e f;‘é‘je’_; 406.06 | /fo. 00
Trailer | /122.50 | 9o0.00
Total £528.50 | £270.00

1D

Decide which centre you will hire from.
Give two reasons for your choices of centre and of cycles and child seating.

{4 marks)

centre Ga 3/4{_

Reason for centre

ch aper

Reason for cycles and child seating

2 children Weigh less than 35 ks
L/ce trar/er
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1E Reviewing your work
You need to review how well you did the task.

Think about how your pian and methods worked, how sensible your answers were, anything
you found difficult, any other information that you would have liked. What might you do
differently if you had to tackle a similar problem?

Explain three of the most important points.

). My plon let me get all the pries
,62 /Zoé/\ So / ‘Znaw the cheapest

2./t was Aard c(ofi'j Srones anel
pounds

3. The answers Were ConsSible beconse
!/ can See (Go Brke IS pest dea(

(3 marks)
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Task2 Landscape garden
There are 25 marks available for this task.
You should check your work as you go along.

Introduction
This task is about planning a garden with a summerhouse.

You work for a landscape company.
A customer wants a summerhouse, some decking and a lawn.

summerhouse

Sketch plan to show the position of the
summerhouse on top of the decking

Not to scale
decking I 1.5m
i
decking | IEsummerhouse;._.
1_5m§ { 15m
s 2m
I

2A .
What are the dimensions of the decking?

ShowYourworking-/;S-F 3.16,* /' 5 = é : é

5 . ot =4
[ S+2 c4+2 f%ength & bm

Width

(4 marks)
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2B

The customer wants the decking and summerhouse to be in the top right hand corner of the
garden. The doors must face south.

You have a sketch of the customer’s garden.

15m

<+ >
T North
w ‘1‘ E

summerhouse
and decking S

to go here

20m
GARDEN

Draw a scale plan to show the outline of the customer’s garden.
Add the decking and summerhouse to scale on your plan.

Use a suitable scale.
Label your diagram.

Use the graph paper on the page opposite.
(10 marks)
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(Original used is 2mm squared graph paper)

ﬁizz{:“‘
/2250

L —— fummer
Aouse

=TT T fr{w\nj

i

:Jf)dﬁ-’a;/ff?

2C

You need to show a check of how you used the scale in 2B.
Explain how you know one of the lines on your diagram is the correct scaled length.

Write your check here. d‘&ﬁ/&, /J' /! 925‘0
QOM = _20 Qocm

2000 ~250 < g’cm\/

(2 marks)
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2D
The customer wants the rest of the garden to be a new lawn. You need to buy enough grass
seed.

/Formula for working out grass seed \

_rxA
1000

Where
W = weight of grass seed needed (in kilograms)
r = amount of seed to use (in grams per square metre)

\ A = area of new lawn (in square metres) /

£14.99 £4.75
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Work out the cheapest way to buy the grass seed you need and its total cost.

Show your working.

_
A’Ma 20 bl
o 2o x 15 = 300

5 {lx59 = 3894
30039 =26(mMm?

\/\/ — 5_O>€26[ _ /305
/00 0O

Need /3- 05 k’j

Sx2'5 =/2'5
éxzs = /5

&? ’éxz.g k,,} = X |ul 99

= w{@ﬁﬁ%

(9 marks)
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Task 3 Hotel review

There are 25 marks available for this task.
You should check your work as you go along.

Introduction

This task is about comparing the performance of two hotels, Blues
Hotel and Giltspur.

Every month the owner reviews how well the hotels are doing.

3A

Both hotels send information from customer surveys.

Here is an example of a customer survey.

The Blues Hotel

Hitting all the right notes

Customer Survey

Thank you for choosing to stay with us. We hope you enjoyed your stay.
Before you leave please complete this survey form.
All completed forms go into our free prize draw for Blues Hotel customers.

Name: Bradley Handbury Contact: bradh@hundred.co.ukr

Please rate our:

Very Poor Poor Satisfactory Good  Very Good

1 2 @ 4 5

SERVICES

@ Very Poor Poor Satisfactory Good Very Good
B 1 2 3 @ 5
STAFF

/ Very Poor Poor Satisfactory Good Very Good
, 1 2 3 4 @

Thank you for your time — Good luck in the prize draw!

CLEANLINESS

Survey reference: Number 17
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Every month there is a prize draw for customers who complete the survey.
One customer will win the prize. Last month, 20 customers completed the survey.

What chance does the customer, Bradley Handbury, have of winning the prize for last month’s
Blues Hotel survey?

Draw a probability scale to show your answer.

Show your working. — /
/N L0 = L
L
[#)
Probability 20 or %A

Draw your probability scale below
;Draéa&l'}sz
5/

0% 50% /aia 2%

(4 marks)
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3B
This table shows the resuits for the Blues Hotel last month.

| Sunrﬂ resuits from the Blues Hotel 1ast month

Ratings
§=VeryGood 4=Good 3=Salisfactory 2=Poor 1 =Very Poor

] | et :' | 1 G ! L
r Fi , f / 1 A1
Cleanliness 2|1 ; 2 1/4’";1’;1 A)12]|2 *L"r.rfl.j/i"ié
Work out the ranges of the ratings for each category.
Explain what your ranges show.
Show your working.
Ranges for
5—-/ Service o
5-/ staff 4
51 Cleanliness &
Explanation
7 he Scores are r/erj varied 761' all
g/ hem
(4 marks)
3C
Choose one of your calculations in 3B to show a check.
Check it by a different method to the one you used originaily.
Write your check here.
S-/ = 4
H$+) =5
(2 marks)
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3b .
Work out a suitable average for the ratings for Service and for Staff at the Blues Hotel last
month. Explain why the average you used is the most suitable.

Tick the average you will use Mean Median Mode
Show your working.

Sl SES+S \E /et el Plp At T+ 2D F St D b T Y4

K é7 -é7'-20 :335 Service J.3S5
I S A Sr Yt/ 24 30 345 3- Y-
#2734 pP 343 £34 4 243 Staff
¥S g &&-20 =3'8’t

Explanation for your choice of avera

Mean rs avera:je.

(5 marks)

3E
Work out the percentage of customers who rated the Blues Hotel as Geod or Very Good for

Cleanliness last month.

Show your working.
Yer s = /2
/220 = ‘é

‘6 X0 =60

bo «

(3 marks)
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3F
The owner also wants to know if the performance of the hotels is improving.

You use all the results for the year to find the overall customer satisfaction for each month.

This chart summarises your resuilts.

Overall customer satisfaction

4.2 'i'
|

[
8]
+ e —

‘ 26— — —+— —— - r———

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Month

Draw two trend lines (lines of best fit) on the graph, one for each hotel.

What do the trend lines (lines of best fit) tell you? Make one comment about each hotel.

@ Biues Hotel

X Giltspur Hotel

Blues Hotel comment

Blues /s going down

Giltspur Hotel comment

_[fs jofn\c] UP

{4 marks)
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3G
The owner says that the Giltspur Hotel is performing much better than the Blues Hotel.

Summary of survey results from the Giltspur Hotel for last month
—

The Giltspur Hotel

On average our customers rate us as:

75% of our customers rate the hotel as Good or Very Good for Cleanliness.

Compare the results for the Blues Hotel survey with the Giltspur Hotel survey to decide if the
owner is correct.

Make three comments to support your decision. /

Is the owner correct? Yes No

Comments

Wﬂéo@oﬂ jmi’\tj dewrr at

f;&f_\!_"_@_ﬂ. Blues 335 = sqz-,-{,ca,c bon
G—z?hs*pur /s 5:-@9(

St Blues 3y = \s‘aﬁ;‘ﬁuz’ﬁg
G;/é;paw /5 _qoo o

(3 marks)

End of assessment
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